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SECOND SEMESTER B.A. DEGREE EXAMINATION, 2014
Applied Statistics (Optional)
(Revised Syllabus w.e.f.2013-14)
(New)

Time : Three Hours Maximum : 80 Marks

Instructions 1o Candidates

Use of simple calculator is allowed. Statistical tables/graph sheets are supplied
on request.

neagodod, B susalecr SIRYSRBCNT. o8 dAcy Jdeam U3, DYV
8RcdE Dedt BRBCRHJHTD.

Séction - A

aernt - ©

Answer any ten of the following questions (10x2= 20)
Bezas B, 3,8M¢N vuIORD.

1)y~ Define ‘Index Number’.

Ap1,08 dogded 7

2) Mention any two UuSes of Index number.

m:.nﬁoﬁw o0 cm;-.:‘::::lxaacm".'ai:'c'.gl ag2b.

3) IfP (L)=133.69 and P,(P) = 128.57, then calculate Fishers price index
[o]]

number.

P (L)=133.69 &, P, (P) =128.57 B3R! 3308 136 R0 BorbHBD.

4 Give two examples of timeseries

sood cedod HOW PBOHNIVE), BARD.

5) Mention any two methods of measuring trend.

Beproo0d I IIoDA) udaing aiRSte SOB JPVNYR) Beod

6) What is a seasonal variation ?

ahdmeds wowess Soodedd 7
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7) Define correlation ?

sBI000F BB 7
8) State any two properties of correlation coefficient.

IBI0W0E rHFH0TE INIBe 0B HOFDF NV, BIO.
9) Write the formula for Spearman’s Rank correlation coefficient.

AODBHIR 3, erdowogd rHreosd 3R3, WBD.

10) Define Regression ?
%ouOd SodBerd ?

11) Write the formula of Yule’s coefficient of Association ?

O3RN PBWADF HER0EE 13, wBSoDY.

12) How does Association of attributes differ from correlation.

PBUODF DX IBIowoy Ben :szﬁqmﬁcs.

Section - B

oen - W
I Answer any six of the following questions. (6x5= 30)

SUAS 2,31 ainade edy $,3r9n o302,
13) Show that Fisher’s price Index number satisfies factor reversal test.
HA0N WS o 3
o 500 OBIIFT JooTdew JBeBodA) BZBDYHD 208
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14) For the following data, determine cost of living index number,

s SYRAUR 0TI, SUNT .18 dombBowd.

Group Index number| weight
oo ' AR, 0 Vo1
Food (v=0) 350 50
Fuel & lighting (aogs D deya€)| 200 10
Cloth (wt3) 240 10

H. Rent (b8 wean) 160 10
Miscellaneous (23d) 250 20

15) What are the components of time series, Explain any one of them.
Et)ﬂ_ﬁ,t'ﬁﬁi) PLENR3y), RS t...ociail R0,
16) Calculate 5 yearly moving averages for the following data

LT miz.‘i!‘,' o Sarob uummsbuba.l o b RBoD.

Year 2001 |2002 | 2003 | 2004 | 2005|2006 | 2007 | 2008
A |

Sales 30 40 |50 61 68 |72 80 84
IR0

17) For the following data, Calculate Spearman’s rank correlation coefficient.

L T @536& 20H oD 3,0 IBIOWOH OIS 0B, FoRBOLD.
X | 8 |60 | 73 | 40 |90 |
Y 93 75 65 50 {80

18) From the following data compute the coefficient of correlation between X and Y.
TR mﬁ% X 33 Y BT IBRowoy oo 083d) ot &B00D.

X Series Y Senes

Number of items | 15 15
Anthmetic mean (rief3 30020) 25 18
Sum of square deviations frommean| 136 138

(Zendovod Idd qh‘m‘h’ JriFnd des)
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X on Y for the following data.

. jon equation of -
19) Find the regress < @ borsod AeBOR ForLAD.

y g dedd
sons T4 ; " Y
Mean ($05%0) 36 83
(me!ﬁ)
t=0.66

20) In case of two attributes if N= 250, (AB) = 30, (A) = 100 & (B) = 50. F;;,
the remaining classes and their frequencies.

20 HRGHFNY mEWbFBY N= 250, (AB) = 30, (A) = 100 =
(B) = 50 [wen, owdd SriFnw ) vV YIBoalnew) Fombdka,

Section - C
aen - o
Answer the following questions. 3x10=3

NS 3, 80N nu3d2d,
21) Calculate Laspeyre’s Paasche’s and Fisher’s price index number for the followin:

data. https://www.karnatakastudy.com

SINS =Y A0, @en ) H0°S B 102m,08MYR) ForbbBE

Commodity [ 2000 2004
DA, |
Price | Quantity | Prices Quantity
U | I0ARn | Bdned | 30nm
N 5 40 6 30
R 3 35 4 35
S 6 20 8 |30
L 1 25 7 20
OR /ugae
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5, .'ﬂ) Explain the steps in construction of Index Numbers.
1R, 0 cudod soznumi 23020,
23) Explain the method of least squares to fit straight-line trend.
zo¢ dedod ESJQ}Q_QBE\E gorbbBalna SOH JInFriY DRTIT, IIOAD.
OR /ug= '
24) Calculate coefficient of correlation from the following data.
YRS m;sﬁ!a I@Zowog mmoﬁaai o b RBoD.
X 1219 8 101 11 13 |7

1Y 14 8 6 9 11 12 3

25) The following table gives marks of 6 students in History and Economics.
Estimate the marks in History when marks in Economics is 80
OB IWPFAR WITF ), vPrs PO IBE vosnd YA,
OFFEs RO 80 wosrith Idwor wIFR WOBNYE), FoRGBWD.

Marks in History 62 {70 | 66 | 76 68 60
2IFITY0d BoFD
Marks in Economics |70 |74 | 68 | 77 | 74 | 63
ut:sraa::; gdad eosritd

OR/ogae

26) Calculate Yule’s coefficient of Association and comment on its value for the
following data. '

8YNE méﬁﬁﬁ cudesds mdBWODF rbmoﬂ:iatgl godbAm efd ddob

8P o 392D.
N Smokers Non-Smokers

gz eI Indue
SRADIID piletmnied

Tea drinkers 40 33

U3 HLBIIDH

Non Tea dninkers 03 12

¥E HBabBe FDHIJD |
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